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1. Introduction
The impact of simulation frequency and cell range on ACIR was analysed in [1]. This contribution provides a text proposal based on [1] for inclusion in TR36.942..
References
[1] R4-060749, Additional coexistence simulation results of average system throughput loss and 5% CDF user throughput loss in downlink, source Siemens, RAN4 #40
Annex A: Text proposal for TR 36.942
7.1.3.4 Impact of cell range and simulation frequency on ACIR
The impact of cell range and simulation frequency is analysed by comparing downlink scenarios with simulation frequency of 900MHz (1.25MHz system bandwidth) and 2GHz (10MHz system bandwidth) and cell ranges of 500m, 2000m and 5000m in urban and rural area environment. 
For the 2GHz rural environment case 18dBi antenna gain and 45m antenna height were assumed. Propagation model for the 2GHz rural environment case is according to section 4.5.3 modified for 2GHz and 45m antenna height with the  following formula:
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where:

R is the base station-UE separation in kilometres

Figure X presents average system throughput loss in percent relative to the reference throughput without external system interference. Figure Y presents 5% CDF user throughput loss in percent relative to the reference throughput without external system interference. [image: image2.emf]E-UTRA DL average system throughput loss vs ACIR
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Figure X: Average system throughput loss in downlink

 [image: image3.emf]5% CDF E-UTRA DL user throughput loss vs ACIR
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Figure Y: 5% CDF user throughput loss in downlink

On the basis of the simulation results it can be assumed that the worst case scenario is 2GHz, urban environment, 500m cell range.
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